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2ol sII=HH

sII=HH
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sH0I=
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©
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40
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& 45,000,000 x2H
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191,000
75,000
116,000
90,000
20,000

6,000

90,000

101,000
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EXE0Ig £&

i)

M

H A

1,000,000

500,000
500,000

1,000,000

A

1,000,000

500,000
500,000

1,000,000

401 AIEHIZL S0

i

A

1,000,000

500,000
500,000

1,000,000

01 AI&HI

O=sll=dH A E=
1,000,000, 000 * 14!

H A

1,000,000

1,000,000

500,000
500,000

1,000,000

XN

9,695,723
5,886,429

81,408
1,516,408
2,211,478

5,501,971

4,193,752

RUBRSIN]]

93,683

4,250
49,408
40,025

21,400

72,283

8,000
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A 1,000
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2AM: sI|=HgH
M SAAMA S
ool =3 2 el
2 . - e
SN BB S(E) - MRAY - BAS S 2
01 At 22|l 2,000 5,000 A3,000
Os&dUEs 29 500, 000& *43] 2,000
202 o44| 4,000 4,000 0
01 =L YI 4,000 4,000 0
O=sdYR =X 100,000 421 x103| 4,000
203 PR F2Y| 2,000 0 2,000
03 Al =X R A 2,000 0 2,000
O=d ¥ =X RFE 2,000,000 14 2,000
A=sE Y ASMUSFMHNOS 29 2,400 2,400 0
201 et gl 2,400 2,400 0
01 At 22|l 2,400 2,400 0
OSYsE U AZHAYHANS 2Y
100,000& * 1221 %23| 2,400
SEXEMNG 8E JI=Xt s N3 6,000 6,000 0
= 3,000
i 3,000
201 LBr2Fd| 2,000 2,000 0
= 1,000
i 1,000
01 AFS 22l bl 2,000 2,000 0
O=ZEXEMT = 2,000,000 1A 2,000
= 1,000
i 1,000
202 o44| 4,000 4,000 0
= 2,000
i 2,000
01 =LHOA Y| 4,000 4,000 0
OSZXEAY Bt L G245
100,000 *40¢! 4,000
= 2,000
o 2,000
RSP AMELY 2 1,000 1,000 0
201 et Fy| 1,000 1,000 0
01 At 22|l 1,000 1,000 0
OLds=AEY I 23| 1,000, 000 =14 1,000
olsHH XNEe=s M2 a X 2,500 3,000 A500
= 1,250
i 1,250
202 o44| 2,500 3,000 A500
= 1,250
i 1,250
01 =G YI 2,500 3,000 A500
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M sI=4dH
HE: SAAMA By
ool =1 22 EERE
= = — X L=
SA SR (S) - MRAY - BAS il &t e RS2
OXNEZR2¥ M82sZIML 500,000 52113 2,500
= 1,250
o 1,250
sA0I S22 KJAAS 73,783 0 73,783
| 49,408
o 24,375
101 Q124 H| 56,470 0 56,470
| 39,529
= 16,941
04 JI2tM22 s+ 56,470 0 56,470
O=XIOISAEHEAL JI2EHIZZ2 X 21 24|
9,411,6663 *62! 56,470
| 39,529
o 16,941
201 et Fy| 14,113 0 14,113
| 9,879
i 4,234
01 At 22|l 14,113 0 14,113
O=XI0ISAEHEAL & 22| K& 2ZH|
2,352, 1663 *6H A 14,113
| 9,879
i 4,234
202 o44| 3,200 0 3,200
01 = LHGYI 3,200 0 3,200
OsXOIZAEHZAF EXIZAF OHI
20,000 *221+803] 3,200
sSE AS)|E 24 953,714 610,568 343,146
= 179,613
L= 171,880
i 602,221
SENLAMY =& 3,000 3,000 0
201 LBr2Fd| 3,000 3,000 0
01 AL 22l bl 3,000 3,000 0
O=ESMLAIY 2F2el 3,000,000 =14 3,000
sE2ZFH 24 N (sEMEFL02 A2E 150,900 115,300 35,600
g)
= 54,225
L= 26,280
i 70,39
307 SI2toI & 150,900 115,300 35,600
= 54,225
& 26,280
o 70,395
02 QIZtAAMAIHE X 150,900 115,300 35,600
O=sZMNES2L0I2 AIRE HE
150,900,000 *14] 150,900
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FA sEII=dH
HE: SAAM By
Cel mE ASI|E X4 (Eto): &2
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
= 54,225
< 26,280
= 70,395
SE2ZFH |4 NA(S01E28 MHlA A NS 3,962 6,500 N2,538
)
= 1,981
= 1,981
201 Zet=dhl 3,962 6,500 2,538
= 1,981
= 1,981
01 AtS2telH 1,000 1,500 A500
Os0ELE MUlA SRS 2l
1,000,000 =14 1,000
= 500
= 500
03 A2 S| 2,962 5,000 22,038
Os0E2e MblA HENF 29
2,962,000& * 14! 2,962
= 1,481
= 1,481
sEZZ=H 4 N2 (SSHEFL0S 28I1Y) 6,892 8,208 A1,316
= 4,307
= 2,585
307 212+l 6,892 8,208 A1,316
= 4,307
= 2,585
02 QI BHAMNHE X 6,892 8,208 A1,316
OsEMegs20ts 280t
8,614,000 *141x80/100 6,892
= 4,307
= 2,585
sSEZY 295 FA(sHELE ANLEZME XS 240,000 160,000 80,000
)
< 90,000
= 150,000
402 212t XH=0l 240,000 160,000 80,000
S 90,000
= 150,000
02 (I EMSEZ (01T ) 240,000 160,000 80,000
Os0E ANEEZ HEXIE
10,000, 0002 3074 2= *80/100 240,000
< 90,000
= 150,000
sEZ 23} =AU (SEME dHBYANLE EF) 72,000 48,000 24,000
< 27,000
= 45,000
402 212t XH=0l 72,000 48,000 24,000
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SA

X EH

gel: s& e (cted @
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
S 27,000
= 45,000
02 QN EAMBER (01X THH) 72,000 48,000 24,000
O=ZHHEA0IS ATHOINL &HE
30,000, 0002 *3JH 2~ *80/100 72,000
< 27,000
= 45,000
HAsHE SXXE 210,000 100,000 110,000
= 105,000
< 21,000
= 84,000
101 2124H| 20,000 0 20,000
= 10,000
S 2,000
= 8,000
04 JIZtN 22 NS 2+ 20,000 0 20,000
O FsHE N2HE g2 2]
2,000,000& *10& 20,000
= 10,000
< 2,000
= 8,000
201 2Bt | 142,000 59,900 82, 100
=2 71,000
S 14,200
= 56,800
01 At2telH] 98,000 30,400 67,600
O AsHE NJHH 2 7,000,0003 14! 7,000
= 3,500
< 700
= 2,800
© FsHE NS 0 E 22l
50,000,0003 14 50,000
= 25,000
S 5,000
= 20,000
O FsHHE 2= MA 4,000,000& x4& 16,000
= 8,000
< 1,600
= 6,400
© AsHE O3HHI0I 2212 us 29
20,000,000& * 14| 20,000
= 10,000
S 2,000
= 8,000
© Olel &0t2)] =228 249 ¥ I
1,000,000 *5IH 4~ 5,000
= 2,500
< 500
= 2,000
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(=)
ol SE ASIIE T4 (Sl &)

SN B CR(BH) - MRAY - BES 0l et

=10

] i

J2m
o
EJ
i
oy

03 A2 S HI 44,000 29,500 14,500
O AsHE =& ot 8,000, 000& =43 32,000
16,000

3,200
12,800

H A

O FASAZE OIHI0l 2=2t0l g 2

12,000, 0008 * 14! 12,000
6,000
1,200
4,800

M H

202 04l 3,000 4,000 A 1,000
1,500

300
1,200

H A

01 =LHOHI 3,000 4,000 A 1,000
O AAs?HE NJHEH 204
3,000, 0003 * 14! 3,000

1,500
300
1,200

M H

w
2
ne
z
HL
r
oy

25,000 11,100 13,900
12,500
2,500
10,000

H A

09 HAIAHIXIE = 8,000 11,100 A3,100
O FHsHE 02t0I0l 2=t WM =AlH|
PN 8,000, 000& * 14! 8,000
4,000
800
3,200
2IIEtE4= 17,000 0 17,000
© Olel &0t2)] =208 HH
2,000,000 ~6& 12,000

6,000
1,200
4,800

M H

M H

©
+
OF
e
010

2 ey 2

iz

g X
50,000& 1002 5,000
2,500
500
2,000

o

H A

402 RIZ2tXH 201 A 20,000 15,000 5,000

10,000
2,000
8,000

(O TH&) 20,000 15,000 5,000

M H

5,000, 000& 4K A 20,000
= 10,000
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M sI=4dH
A sAYW S
@ & 4S8 24 (el &3
- _ - &
CFE - ERA(SH) - NRAY - BES S dImEET
< 2,000
s 8,000
E 2383 FA (A= FHAY) 7,100 16,800 A9,700
& 3,550
s 3,550
LBIENZ 7,100 16,800 29,700
& 3,550
s 3,550
12 JIEt24 3 7,100 16,800 29,700
ORS0(SAAATH) FEI 2
7,100,000& 14! 7,100
& 3,550
s 3,550
H=sHE 23 FE(L_T & ¢ &D)) 13,500 10,500 3,000
& 4,050
s 9,450
307 QI2+0I A 13,500 0 13,500
& 4,050
s 9,450
02 QIZtBAAIEE X 13,500 0 13,500
OZRAE &< &I X 13,500, 0003 » 14 13,500
& 4,050
s 9,450
dol(A=sHE) EEAS U= 24,000 36,000 A 12,000
= 12,000
s 12,000
UBIENZ 24,000 36,000 A 12,000
= 12,000
s 12,000
12 JIEtE A3 24,000 36,000 A 12,000
O de=sIt E&Zas NF 24,000,000 14! 24,000
= 12,000
s 12,000
I8 S0 29,000 29,200 A 200
et Iy| 25,000 25,000 0
01 At 22|l 25,000 25,000 0
O sEMEF20IS SEEE
5,000,000& 14! 5,000
O SZENEFL0E sEME2E HAYX 2
& 10,000, 000& »23| 20,000
UBIENZ 4,000 4,200 A 200
09 HALAHIXIAZ 4,000 4,200 A 200
O sEMER20IE dE - L3 ws A
o4l 4,000,000& 14! 4,000
MEorgeld s XN (IE23) 3,360 3,360 0
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FA sEII=dH
HH: SAMR
ool =& ASI|E XA EEREED
. - - N
SA-BY.SASH) - RN - B ol &t S HIDE
= 2,100
i 1,260
307 212+ol 3,360 3,360 0
= 2,100
= 1,260
12 RI2HOI 2 & W S H 3,360 3,360 0
OsZHgsdiis dgdstus
4,200,000 *80/100 3,360
= 2,100
i 1,260
sSE2ZANE tEEH X 40,000 18,000 22,000
201 £et2E| 40,000 0 40,000
01 AtR2telH 40,000 0 40,000
O sE2FAE 8 EH N2
100,000 #4004 2 40,000
TEEdY TsuFdE ol 150,000 0 150,000
401 Al HIZ SO 150,000 0 150,000
01 Al€H| 150,000 0 150,000
O FEEHE TsUFUE FHl
150,000,000 14 150,000
sEE SSH 243 660,000 1,400,000 740,000
& 3,600
= 656,400
SCe SEMNL(EFZHOSLSI)(HEAMY) 492,000 390,000 102,000
402 212t X =01 & 162,000 0 162,000
01 QA2 AMLER (KM ) 162,000 0 162,000
O ZBxH0s 2SI A(=al)
72,000,000 * 170 2 72,000
O FXH0t2 ST AF(S2a)
90,000,000& *1JH 2 90,000
403 XXM SA=201 A 330,000 390,000 260,000
02 SIS0t A28 2 330,000 390,000 260,000
© FXHOS 2SI| A (& wel)
330,000,000 *17H & 330,000
E IsH =4 (&0t 3524 XY) 12,000 16,000 24,000
S 3,600
i 8,400
307 212+l 12,000 16,000 24,000
S 3,600
i 8,400
02 QItHAAMNHEE 12,000 16,000 24,000
Os&0t2 524 NE
5,000,000 *37H 0t =*80/100 12,000
& 3,600
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SN S EHE
HE: SAAMA S
o9l ==0tS ISH 2 (S5 &2
- _ - &
SN ZH - S(S) - MRAY - BAS Ol &t o S dImEET
| = 8,400
Y MsE 2 LAY 150,000 250,000 A100,000
402 212t 20| A 150,000 250,000 A100,000
01 LIZREAIRIS X (M) 150,000 250,000 100,000
OJIYE MsE 2 ATASAY
30,000, 0002 ¥57H 2 150,000
IYE MsEAY =T 6,000 6,000 0
201 LBt | 3,000 4,000 ~1,000
01 AbR2t2|H] 3,000 4,000 ~1,000
0 Jlgy M= =T0S DS ¥ 29
3,000,00021 %14} 3,000
301 P2 HZ 3,000 2,000 1,000
CENTEE] 3,000 2,000 1,000
O JIYE M= T] L AAA &4
50,0002 %60¢! 3,000
sS4 7,988,326 3,456,403 4,531,923
2 5,702,566
p] 32,000
= 1,340,928
2 912,832
GAP Q1SS0 QHE A X 2,000 5,000 £3,000
= 1,000
= 300
= 700
201 LBt | 2,000 5,000 £3,000
= 1,000
= 300
2 700
01 AbR2t2IH] 2,000 5,000 A3,000
OGP 2HEY 24 X 500,0002 421 2,000
= 1,000
= 300
= 700
= EFRSTHHRR (2 MATIH KY) 153,798 244,800 £91,002
= 123,038
= 9,228
2 21,532
301 LB BHD 153,798 244,800 £91,002
2 123,038
= 9,228
2 21,532
EPIEE 153,798 244,800 A91,002
O = EFRZ MUK 3,075,960 *50na 153,798
= 123,038
= 9,228
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A sZIIs4H
FIM: SO TU2A SEA}
(== I o-gH o o™

(=]
&l SARIY

SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
| = 21,502
SSHIFY 22 3,000 9,000 6,000
201 Zet=dhl 3,000 3,000 0
01 At 2t2ld 3,000 3,000 0
OZ33HI= 0130 2el 300,000& *102 3,000
F2m e (KIXHH )X & 2,000 2,000 0
= 2,000
202 044 2,000 2,000 0
= 2,000
01 =W oHI 2,000 2,000 0
ONSYT BRAE L DTHIEIT MY 22
20,000& *1002 2,000
= 2,000
SX=Es dENH 32,000 0 32,000
Jl 32,000
201 Zet=dhl 32,000 0 32,000
Il 32,000
01 AtR2telH 32,000 0 32,000
OTUHNEZ BIAY X
32,000,000& 14| 32,000
Il 32,000
SUHN=2S ELH A X 2,359 0 2,359
= 2,359
206 M =H| 2,359 0 2,359
= 2,359
01 =4l 2,359 0 2,359
OZAX=2Z ELHAHI XI& 235,900 *10A 2,359
= 2,359
=012 =E3 3,969 0 3,969
= 3,969
301 LBtENS 3,969 0 3,969
= 3,969
2IIB2 4= 3,969 0 3,969
O=0I2HXEMN 2= 3,969,000& * 14! 3,969
= 3,969
SAES 5,570,200 0 5,570,200
= 5,570,200
301 Let2d3 5,570,200 0 5,570,200
= 5,570,200
12 JEt2 &= 5,570,200 0 5,570,200
Osdx=S 5,570,200,000& » 14 5,570,200
= 5,570,200
sol2leg 2,219,000 0 2,219,000
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M sI=4dH
HE: SAMA By
el AT (el @2)
= = — X L=
SA SR (S) - MRAY - BAS il &t e RS2
< 1,331,400
o 887,600
301 LB F 2,219,000 0 2,219,000
& 1,331,400
i 887,600
12IIEt2 43 2,219,000 0 2,219,000
O=sgol=g X& 700,000& *3, 170= Dt 2,219,000
& 1,331,400
o 887,600
4 ZHYE L5t 5,216,017 8,528,901 AN 3,312,884
= 360, 066
| 348,179
& 520,091
i 3,987,681
A5t AEZs |4 1,560,780 2,075,180 A514,400
| 10,786
& 106,539
o 1,443,455
LASte St HES =54 921,600 973,100 251,500
206 XH =4I 216,000 195,000 21,000
01 HZ 1l 216,000 195,000 21,000
QLnsgERF+=JHRY 10,000& *1,0005 10,000
OB =FS=IIAMAIA 10,500,000 +2CH 21,000
OTMR XtOtHHE A=Al XI&  100,000& *200% 20,000
ottt 7Y 250,000 *3005 75,000
OSYSIRE0NMAUANEAZT L
10,000& x5, 0005 50,000
OBLNIFML HIIK N
100, 000& *4001 40,000
301 LEEF 180,000 203,000 223,000
09 HALAHIXIAZ 6,000 6,000 0
OB AL TUCKH NS
30,000& *5001 43 6,000
12JIEt2 43 174,000 197,000 223,000
Ox=&d0|al - SRXE  2,000,000& 155 30,000
OO A MALSOIXAZ=F XA
50,000& *3505 17,500
O==Z 0| A MA=S0L XY X
300,000& 505 15,000
ODSTRHEL £HBO0IA Al
200,000& 1005 20,000
OS2(HMR)1=2=s Eot&d3a NA
200,000& 1505 30,000
Ost(LA)D=x Eotdd2 N
100, 000& 2005 20,000
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SA

=
(=)
Hm: =
o

EEEEE
SOl UYUBD HES S4 (Sl )
= = — X L=
SA SR (S) - MRAY - BAS il &t e RS2
OStRAI==IE JlsWs 2 A
500, 000& *53] 2,500
OREER S0HA M2 Al=tl
15,000& *1,6005 24,000
O eto| Al MAH SO0HK ==HI(HSEH)
500,000& 305 15,000
307 QI2+0I A 525,600 575,100 A49,500
02 QIZtAAMAIEE X 414,600 484,600 270,000
O& R (HMS) MRAIZ X
1,000& *150, 000 150,000
OS2(AHM= - 24) N3\ =8THAH X
33,000& *9005 29,700
Ost2(2AHIE) dazdads XY
150, 000& 505 7,500
Ot (=S0tX) HMAIE X
50, 000& 7005 35,000
OB (YA) HAZ X
8,000& *1,0005F*43| 32,000
Oa2nE SR2AF I AtZHI XI&
2,000& 40,000 80,000
Otte =TE0lA XJAAY
450,000 *1405+80/100 50,400
OTMR SHOIALZ XI&  60,000,000& *141%50/100 30,000
08 OIXIENZ 111,000 90,500 20,500
OFasI 2HrE 5 XA (0IXNEH)
1,000,000, 000& *3% 30,000
OSIRAIRI|BIS X S0LX YA K& (0IREA)
2,700,000, 000 *3% 81,000
SILEHESHRA 189,500 537,000 A 347,500
201 et Fy| 8,000 8,000 0
01 AL 22l bl 8,000 8,000 0
Ot 0| A 2 /M A At 20,000& *2005 4,000
Ot et0IN4U 2 S Z At
20,000& *2005 4,000
206 XH =4I 35,000 35,000 0
01 THZ 1l 35,000 35,000 0
Ox=H0| A AZT 2L 1,000,000& «55 5,000
CEEES NS EE -2t
100,000& 2505 25,000
Ot Ol NI 2L 100,000 505 5,000
402 QI+ X201 146,500 494,000 A 347,500
01 2R 2AL EE (KM ASA) 146,500 494,000 A 347,500
ORFSR(NsT LA, HAR) 22X
320,000% *150= 84 +50/100 24,000
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=N

=
(=)
Hm: =
o

A 235t
SOl UYUBD HES S4 (Eto): &2
CH . B(E) - NRAY - BAS Ol ate e HIDE2
OTMR XEJHEHEDI(Z0101 S) K&
25,000,000 *5JH 2 *50/100 62,500
CEEEPIER T L
50,000 *1,5005*40/100 30,000
0BTt BANES N
60,000,000 *141%50/100 30,000
? SEEHE XM 105,264 92,445 12,819
L= 31,579
o 73,685
QIZEXHE01 A 105,264 92,445 12,819
& 31,579
o 73,685
02 QIZIXH2AIE 2 X (0| & THE ) 105,264 92,445 12,819
OMAD B = 46,786,000 *141%70/100 32,751
& 9,825
2 22,926
ORE - T - OIHE
31,446,000 *141%70/100 22,013
L= 6,603
i 15,410
oBdEA EE 41,462,000 *141%70/100 29,024
L= 8,708
i 20,316
OXZHIE ¥ SFAIAE 2=
30,680,000 *141%70/100 21,476
L= 6,443
i 15,033
L 77,400 68,400 9,000
L= 23,180
i 54,220
QIZEXHE01 A 77,400 68,400 9,000
L= 23,180
o 54,220
DIZIXEMSE X (0 X THE) 77,400 68,400 9,000
OoEs+d XIAAS 40,000 & 8005 +50/100 16,000
L= 4,800
i 11,200
OB=sE A& 8,000 *8005 *50/ 100 3,200
L= 960
i 2,240
OR+ZH 10,000 *6005*50/100 3,000
L= 900
i 2,100
OLLTH(HEAMAL.RESHEI}) X
13,000& *8005 10,400
L= 3,120
i 7,280
ONsSEHAALATEH K& 300,000& 765 22,800
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M sI=4dH
HE: B4 3B s
el grorEle §E3 sS4 (2ol @ e
: . . e
M- Z8 - B9(3) - HRAY - BaS S dImEET
< 6,800
s 16,000
OdelEdte XA 400,000& *305 12,000
& 3,600
s 8,400
OXYEHSH(sItus . =T e0l4])
10,000, 0003 * 14! 10,000
& 3,000
s 7,000
SER HNLEZPL 10,000 10,000 0
206 XH =4I 10,000 10,000 0
01 M=l 10,000 10,000 0
OSSN ABLAIZ T 7Y
10,0002 #1,0005 10,000
? &= 2384 X 32,400 22,680 9,720
& 10,800
s 21,600
301 LB F 32,400 0 32,400
& 10,800
i 21,600
12 JIEt2 43 32,400 0 32,400
O8t*® &= 2354 X
54,000& *1,0005*60/100 32,400
& 10,800
s 21,600
SEO0HK MAHE ALY 5,200 11,700 A6,500
& 1,040
s 4,160
402 QI+ XtE=01H 5,200 11,700 26,500
& 1,040
s 4,160
02 Q2R ESALEE(OIXWEA) 5,200 11,700 26,500
Ot SO0HAl MARHE MR
20,000:& *5205 *50/100 5,200
& 1,040
s 4,160
& DSE SN2 HUTRAY 30,000 30,000 0
402 QI2b X201 ™ 30,000 30,000 0
01 QIR 2AL E R (KM AHE) 30,000 30,000 0
OUMNEZI FMS MUK
6,000,000 1074 £ 50/ 100 30,000
& ADE & &4 60,000 45,000 15,000
& 18,000
s 42,000
402 QI+ XtE01H 60,000 45,000 15,000
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02 QN EAMBER (01X THH) 60,000 45,000 15,000
OXsd H&AE X
120,000,000 *141%50/100 60,000
< 18,000
= 42,000
F4ts0 E201 XJAMS (&) 15,720 15,360 360
< 4,710
= 11,010
402 12t X=01 ™ 15,720 15,360 360
S 4,710
= 11,010
02 QN EAMBER (OIS 15,720 15,360 360
OFdsIH =0 2EXH
31,440, 0008 =1 +50/100 15,720
< 4,710
= 11,010
FatsI0t =01 XA (XHAN) 17,000 16,000 1,000
307 212t01 A 17,000 16,000 1,000
02 It B HAMNHE X 17,000 16,000 1,000
OFdsIt =201 X& 17,000,000& 1! 17,000
II=AIEE et 75,000 120,000 245,000
S 15,000
= 60,000
402 212t X=01 A 75,000 0 75,000
S 15,000
= 60,000
02 QX2 AMLEXR(OIXTHEHA) 75,000 0 75,000
ONSAMEEUS NE(EX)
150,000,000 * 19 2 +50/100 75,000
S 15,000
= 60,000
SN2 o1z 22X (A 00] O1FF=HA) 21,696 13,495 8,201
Jl 10,786
< 2,230
= 8,680
307 212+l 21,696 13,495 8,201
Il 10,786
S 2,230
= 8,680
02 It B HAMNHE X 21,696 13,495 8,201
©41J] 018 =HHNAE (HHELZH])
21,696,000 « 14| 21,696
Jl 10,786
< 2,230
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[T = 8,680
2=sIH XA 364,200 2,326,600 21,962,400
L= 3,960
i 360, 240
L= KA 336,000 51,000 285,000
307 SI2t0I & 25,000 25,000 0
02 QIZtAAMAIEE X 25,000 25,000 0
OFALEZME M (SIIAH S)XIH
25,000& *1,000% 25,000
402 QI+ X201 311,000 26,000 285,000
01 QIR 2ALS E R (KM E) 311,000 26,000 285,000
ORE RE MarH 4 X
13,000& *2, 0005 26,000
OYESIHEIIEESAY
10,000,000 & *5H 2~ *70/100 35,000
OOtEEIIIEHXIZYE LA SEtel4 X
250,000,000 14 250,000
FHY= JFJHAsE 13,200 15,600 A2,400
L= 3,960
i 9,240
402 212+ X201 A 13,200 15,600 A2,400
L= 3,960
i 9,240
02 QI RH2ALS E X (OIE ) 13,200 15,600 A2,400
O2=Aa XA 600, 000 *255*50/100 7,500
= 2,250
i 5,250
OR==ZH X 15,000& *760str*50/100 5,700
L= 1,710
i 3,990
LAECT =HOIES S/AY X 15,000 0 15,000
401 Al HI L2 0HHI 15,000 0 15,000
01 A&l 15,000 0 15,000
od&Ee =2 ¥ =2 AL 214,285& %70m 15,000
%z 4 227,250 222,300 4,950
= 3,750
L= 10,650
i 212,850
RLSEME SILIA L5 A 18,000 18,000 0
L= 5,400
i 12,600
402 QI+ X201 18,000 18,000 0
L= 5,400
o 12,600
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FZ=IHEB) RIIA HEX S 18,000 18,000 0
402 212t 20| A 18,000 18,000 0
01 PIATHEAL B E (R THR) 18,000 18,000 0
OS2 (AEI HIJIRIANL S) X
30,000, 00024 *141%60/100 18,000
S==I BYHE A 77,250 79,800 A2,550
301 LPBHD 4,000 4,000 0
09 SAHAIEIXIRI2 4,000 4,000 0
CREEEHVETS! 100,0002! +402! 4,000
307 212401 & 30,000 30,000 0
02 QI A M AR E 30,000 30,000 0
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20, 00021 %3, 000 #50/ 100 30,000
402 212t 20| A 43,250 45,800 A2,550
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OB LIS XA
2,000 #15,000kg50/ 100 15,000
OF2E TR 8,00021%3,000kg*50/ 100 12,000
OYZ(HHY) FU XNF 10,000 5000}z 5,000
OYEsIt HeNZD X
7,500, 00021 *3% *50/ 100 11,250
ESZ S4 NFANY (240 S5 23) 7,500 6,000 1,500
= 3,750
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= 3,000
402 212t 20| A 7,500 6,000 1,500
= 3,750
= 750
2 3,000
02 BIRATHEAL 2 E (O THR!) 7,500 6,000 1,500
CEREEEEEE 7,500,00021 %14} 7,500
= 3,750
= 750
= 3,000
U EZB YE |4 13,500 7,500 6,000
= 4,500
= 9,000
402 212t 20| H 13,500 7,500 6,000
= 4,500
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= 9,000
02 QI2EXFE AL 2 (01 & TH ) 3,500 7,500 6,000
OYR EZE YESH
22,500,000 141 %60/100 13,500
< 4,500
2 9,000
ESE 3 MY 93,000 93,000 0
201 LEH2 & 4,000 4,000 0
01 At 2teltl 4,000 4,000 0
OSZEUSHMZE 20,000 *200H 4,000
206 TH 2| 44,000 44,000 0
01 T2l 44,000 44,000 0
oL, Ml TR SHAX
3,000,000& 4 12,000
o2E, Malis Z&EEA XI& 5,000 *4,0004 20,000
O, M= 81 M= 2,500 +4,0000H 10,000
O, e AEIH T 5002 +4,0000H 2,000
402 2I2b X201 & 45,000 45,000 0
01 QIZEXt2AIS E2 = (KHMITH) 45,000 45,000 0
OEZY T2 YN
500,000 * 100780/ 100 40,000
OEZY HTYLS N
50,0002 %2007 %50/ 100 5,000
LAASH XA 59,200 56,960 2,240
Il 25,600
= 6,720
2 26,880
St SOHME 59,200 56,960 2,240
Il 25,600
= 6,720
= 26,880
402 QIZHH 201 H 59,200 56,960 2,240
o] 25,600
< 6,720
= 26,880
02 QI2EXFE AL 2 (01 & TH ) 59,200 56,960 2,240
Ot S0 X
83,200,000 *14!%71.153/100 59,200
Il 25,600
= 6,720
= 26,880
EMFY X 296,065 499,550 208,485
2 8,715
Il 58,050
< 59,490
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S Esu=E 8,100 8,100 0
201 LBr2Fd| 1,500 1,500 0
01 AL 22l bl 1,500 1,500 0
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301 YPYBNZ 6,600 6,600 0
09 HALAIHIXIAZ 6,600 6,600 0
OFNEsU=F 120,000& *30¢! 3,600
O&tRMEI=u= 100,000& *30¢! 3,000
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& 4,500
o 20,500
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L= 4,500
i 10,500
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i 110,250
02 Q2R ESALEE(OIXWEA) 157,500 175,000 217,500
OJt= Mol=28 It XA
262,710,000 * 141 x59.952/100 157,500
& 47,250
i 110,250
SuesagaXE 96,750 76,000 20,750
| 58,050
& 7,740
o 30,960
301 YPYBNZ 96,750 76,000 20,750
| 58,050
L= 7,740
i 30,960
01 A2 EE 3613 96,750 76,000 20,750
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Ostu 2RzA X2 96,750,0002 * 141 96,750
Jl 58,050
& 7,740
= 30,960
FLHE0HCTESE A 8,715 150,450 A141,735
= 8,715
402 8,715 150,450 A141,735
= 8,715
02 AEAEEE(OIMTHA) 8,715 150,450 A 141,735
& 29,050,000& »141%30/100 8,715
= 8,715
AFHA 28,250 28,250 0
o 10,000 10,000 0
307 212+ol A 10,000 10,000 0
04 QIZFHALAFHI 2 X 10,000 10,000 0
AP ErE B2
5,000,000& * 14! 5,000
SHALID Al & 2
5,000,000 * 14} 5,000
2 = 29 16,250 16,250 0
201 Ler=g 2,000 2,000 0
01 At 2,000 2,000 0
A 222 £X
2,000,000 =194 £ 2,000
206 TH 5,000 5,000 0
01 H 5,000 5,000 0
5 se2 7Y
3,000,000 =14 3,000
3 PAAR 7Y
20,0002 100X 2,000
301 4,250 4,250 0
09 4,250 4,250 0
3 AL O
100,000 «30¢! 3,000
3 E355 ZMEY
250,000 x5 1,250
308 XX EHHMSOIH 5,000 5,000 0
07 XtX 5,000 5,000 0
E 2 2= 5,000,000 *14) 5,000
<l = 3 29 2,000 2,000 0
301 2,000 2,000 0
09 2,000 2,000 0
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EAE HADIB A E ALY 74,800 49,800 25,000
201 223yl 3,000 3,000 0
01 AtR2telH 3,000 3,000 0
OZAMZ(IRG) M2 =4 120,000 *25ha 3,000
202 (4l 4,800 4,800 0
01 =Woddl 4,800 4,800 0
O=AZ(ZEAMYEIX) A2
20,0003 421 %603] 4,800
301 2283 25,000 0 25,000
12JIEt2a= 25,000 0 25,000
OHAS=ZAZ MBS R =4 500, 0002 *50ha 25,000
402 212t X =01 & 42,000 42,000 0
01 QA2 AMLER (KM ) 42,000 42,000 0
OXZAIZ HAD|IBtEE ALY
200,000 100 24+80/100 16,000
OZZALLCIAl HIL XA A
100,000 *200Z+80/100 16,000
OZAZ(IRG) MAHEHl K&
10,000,000& 14 10,000
TAZHAE AHZXME X2 200,620 270,000 269,380
Jl 66,870
S 26,750
= 107,000
402 212t XH=01A 200,620 270,000 269,380
Il 66,870
S 26,750
= 107,000
02 QIEX2AMSE X (01X THE) 200,620 270,000 269,380
OXAt= AtelXl M ZHIX#
222,910,000 »141%90.00005/100 200,620
Jl 66,870
S 26,750
= 107,000
AR SE2 X2 11,020 16,200 A5, 180
Il 5,510
S 1,102
= 4,408
101 14| 11,020 16,200 A5, 180
Il 5,510
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SENE SESAE HoEH 12,600 9,320 3,280
< 2,700
= 9,900
402 2I2tX=01 A 12,600 9,320 3,280
< 2,700
= 9,900
02 Q22 AMLEXR (01X THE) 12,600 9,320 3,280
OREXE 28 MU 2 (A2l XX Z
) 9,000 *2,001E+69.961/100 12,600
< 2,700
= 9,900
A 2EAE M € 08 245t 73,500 42,000 31,500
S 15,750
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402 212t X=01 A 73,500 42,000 31,500
S 15,750
= 57,750
02 QX2 AMLEXR(OIXTHEHA) 73,500 42,000 31,500
OREXE 8 AZMZ & 012 283HTWR
HZEZHI) 105,000,000 *141%70/100 73,500
S 15,750
= 57,750
SaEE 2l E X 717,450 1,071,700 A\354,250
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< 56,025
= 600,675
=2 XelAE X 397,500 252,500 145,000
307 e12tol A 200,000 200,000 0
02 QItHAAMNHEE 200,000 200,000 0
OF&H+XCIANL(Z3AIE) 29 X2
400,000, 000:& =17 2507100 200,000
402 212t X=01 A 197,500 52,500 145,000
01 QNSNS E R (RHHA) 197,500 52,500 145,000
OZ0IEIHIE EXIKHH A
15,000, 000& *5& x50/ 100 37,500
OQII=EEH USet ZHAIAY N2
200,000,000 194 2=+80/100 160,000
O=sH JiE2axdel &t X 100,000 60,000 40,000
S 30,000
= 70,000
402 212t X=01 A 100,000 60,000 40,000
< 30,000
= 70,000
02 QX 2AMLEXR(OIXTHE) 100,000 60,000 40,000
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S 2,000
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01 MM =S F S 31,500 20,500 11,000
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= 8,100
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S 2,925
= 6,825
402 212tX=01 9,750 35,000 A25,250
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= 6,825
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= 6,825
SaE FE - odd He 1,371,052 1,645,541 A2T74,489
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OAHEMEASAIE JIZLHZ22 X LIS
500,000& ~4 & 2,000
201 fet2E| 13,180 10,240 2,940
01 AtR2telH 13,000 10,000 3,000
oJtxsgdsy & E2= MA 5,000,000 14 5,000
OQIIEHEE UL 4242 3,000,000 *14] 3,000
OJlg=sa Xz 500,000& 105 5,000
02 3323 180 240 AB0
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10,0002 *3CH 122 50/100 180
202 044 5,600 5,600 0
01 =W oLl 5,600 5,600 0
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206 M =H| 110,625 110,625 0
01 =4l 110,625 110,625 0
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10,000, 0003 14| 10,000
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25,0001 * 800kg 20,000
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301 YA 30,000 21,000 9,000
12 JIEH2 A3 30,000 21,000 9,000
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OFMSI HYH X 5,0002 %2003 1,000
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80, 00021 3505 %50/ 100 14,000
s 2RAE 29 10,000 10,000 0
206 2| 10,000 10,000 0
01 T2 10,000 0,000 0
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5,000 %2,0005 10,000
2 X AFS2I2I(Z21012F IRl DHEXI) 47,650 41,200 6,450
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= 5,648
= 23,177
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01 Al&tt| 10,000 41,200 £31,200
© HEX FHIAY 10,000, 00021 *14! 10,000
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= 5,648
2 13,177
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OINSHAM 78 X2
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2 4,284
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12 JIEt2 &= 41,616 57,900 AN16,284
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= 9,000
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= 4,158
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= 25,200
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= 24,500
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= 24,500
& 7,350
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201 2Bt | 23,000 23,000 0
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= 500
= 500
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= 3,500
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O=geltH H&sl X2 HE 300,000 65 1,800
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2 9,000
01 At 2teltl 18,000 18,000 0
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el sgel sEY XA CEER:ED
P = N
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S 951
i 3,801
ondsgeldlz #s8 X2
2,040,000 14! 2,040
S 408
i 1,632
Ozl ad= HE2)s 38 NS
3,600,000& * 14! 3,600
& 720
i 2,880
Osgt=s02ldlz2 7= X2 84,000 229 19,236
& 3,847
i 15,389
4-H3l XI& 92,850 36,770 56,080
= 22,500
& 11,160
= 59,190
4-H3|l S4(FH4H3d JIzd=sKR) 36,000 20,000 16,000
& 10,800
= 25,200
402 It X=01 ™ 36,000 20,000 16,000
& 10,800
= 25,200
02 QLA EAMEER (01X THEH) 36,000 20,000 16,000
O&d 4Ha@ Jx=d=s FEAE
©20,000,000:& *27H 2*90/100 36,000
& 10,800
= 25,200
SUQICHH 235 XA (4-H Y sHHE2X 2= 1,800 4,200 2,400
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S 360
= 1,440
201 2=yl 1,800 4,200 A2,400
& 360
= 1,440
01 At 22l 1,800 4,200 A2,400
O4Hald =HHZX F=AA 30,0003 +60H 1,800
& 360
= 1,440
4-Ha| NFUA L 2SI 10,050 10,070 A20
201 2823yl 3,500 1,000 2,500
01 AtR2telH 1,000 1,000 0
O4H3| XA =& 23|
1,000,000& * 17K 2| 1,000
03 &A= S 2,500 0 2,500
O4Hal HALEE FIoF & JOHal 500,000& «52 2,500
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01 HZHl 1,000 1,000 0
O4-Hs| SISsUME 2L ME 500,000 *20H A 1,000
301 LB F 5,550 8,070 22,520
09 HALAIHIXIAZ 5,550 7,170 A 1,620
O4-Hsl & - U3 &It 1,350,000 *13] 1,350
OFEAYE & A 45,0003 402! 1,800
©4Hal org s 1,500,000& 12/ 1,500
O4-H3| E#=sXA(Hd4A) 90,000& 102! 900
FU=gol ZdE MO AY 45,000 0 45,000
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& 4,020
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301 LB F 2,800 3,000 A200
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i 1,960
09 HALAHIXIAZ 2,800 3,000 A200
O=EXNE A 845X 2,800,000& 13l 2,800
& 840
s 1,960
s 23 N (sEXNEX =sSEEX 2= 15,900 15,900 0
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201 et Fy| 15,900 15,900 0
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301 LetE8NZ 3,000 3,000
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307 QI2+0I A 25,000 25,000
04 DI2FEHALALR B T 25,000 25,000
O=gele & A Mzl 25,000, 000& =13 25,000
OtSCH2 ST I| AL 51,537 50,892
101 el 24| 48,537 47,892
04 JI12tM22sEx 48,537 47,892
O8H otst2 s JtR)| =Yy
79,0503 *6142! 48,537
206 M = HI 3,000 3,000
01 HZdl 3,000 3,000
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L= 12,680
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sHZE0 KA L SSK2 53,895 50,658
101 Q124 H| 40,39 39,858
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79,050&+511¢! 40,395
201 L2l 900 0
03 A2 ZH| 900 0
O=gZ I =S&E S2HI 2AXA
300,000& *3= 900
206 M =4I 2,500 2,000
01 HZdl 2,500 2,000
OFRold FARNEES 2SEME
2,500,000 *1JH 2 2,500
301 et d= 10,100 8,800
09 HALAHIXIAZ 10,100 8,800
OsABAL T - EYs|o HA
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O=g3d92 & - Y3l &It
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2 15,400
402 P12 X201 A 22,000 32,000 10,000
& 6,600
2 15,400
02 QIZHAHE A2 X (O THE) 22,000 32,000 10,000
OFEselol Hedlg & X
27,500,000 =17 2~ *80/100 22,000
& 6,600
2 15,400
SYUAS gt 4,407,421 2,836,599 1,570,822
= 188, 180
2 980,000
< 104,909
2 3,134,332
HUSH X2 56,950 109,909 A52,959
UMY 2SN 3,950 3,950 0
201 Lt | 2,500 2,500 0
01 At 22|l 2,500 2,500 0
QA SE3 AL XI& 500,000% * 14! 500
OMA - BH20F LS AA 500,008 14! 500
OUA WS ME 7Y 1,500,000 14! 1,500
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SA-BY.SASH) - RN - B ol &t S HIDE
301 2283 1,450 1,450 0
09 AL HIXI &S 1,450 1,450 0
O&MII==20F T FAX0HI
45,0002 102! 450
O&NII= ANEAIE Eotal A0
100,000& *10Q! 1,000
o= SEXEISXXE ALY 36,000 36,000 0
402 It X=01 ™ 36,000 36,000 0
01 QA2 AMLER (KM ) 36,000 36,000 0
Ot Sx=HelsXl X
20@4+4,000,0000H+45/100 36,000
ot SAYM X2 ALE 17,000 15,000 2,000
402 12t X=01 ™ 17,000 15,000 2,000
01 AN AMBER(RHMHH) 17,000 15,000 2,000
Out LHANSYN XA
17,000, 0002 *2&*50/100 17,000
HOISE daoigt ¢ 368,500 664,000 295,500
S 56,250
= 312,250
Yo EASS (U= HHMD) 62,500 25,000 37,500
& 18,750
= 43,750
402 212t X =01 & 62,500 25,000 37,500
& 18,750
= 43,750
02 (I EMSEZ (01T ) 62,500 25,000 37,500
© == 3YHML KA
125,000,000 141 %50/100 62,500
& 18,750
= 43,750
o= AIEIRE X2 A 20,000 20,000 0
402 212t X =01 & 20,000 20,000 0
01 (I EMSE (XM ) 20,000 20,000 0
Out==AlE HHXIA
10,000, 0002 *49H 2= +50/100 20,000
ot HEE HO FH| NJALE 50,000 50,000 0
402 212t X =01 & 50,000 50,000 0
01 QX2 AMLER(RMHH) 50,000 50,000 0
Os=AaLI|(SS) X
25,000, 0002 *3CH*50/100 37,500
o&SItel X2 2,500,000 *10CH*50/100 12,500
28 USSR A N2AE 20,000 20,000 0
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402 DIZHTHE0| | 32,500 32,500 0
< 9,750
= 22,750
02 DIZFRHZ AL 2 (01 R T ) 32,500 32,500 0
OBILEI2A S Al
6,500,000 *10=+50/100 32,500
< 9,750
2 22,750
Mel THEE Al ALS 49,000 49,000 0
402 212b X201 & 49,000 49,000 0
01 QIR 2ALS E & (KM AHE) 49,000 49,000 0
ORI T Al AR
70,000,0002*1.0nax70/100 49,000
ANERH SEY ADER M2 AYAY 42,000 0 42,000
402 DIZHTHE0| | 42,000 0 42,000
01 QIR 2AL E R (KM AHE) 42,000 0 42,000
OREE ANIEE AlAE &3
60,000,000& 70/ 100 42,000
2E ANER 4 80,000 0 80,000
= 24,000
= 56,000
402 DIZHTHE0| | 80,000 0 80,000
= 24,000
= 56,000
02 QI RH2ALS E X (OIE ) 80,000 0 80,000
OZE ADNER 84
50,000, 000%27H £ %80/ 100 80,000
= 24,000
= 56,000
ANE BT D (AL SN M) 12,500 0 12,500
= 3,750
= 8,750
402 DIZHTHE0| | 12,500 0 12,500
= 3,750
= 8,750
02 DIZFRHZ AL 2 % (01 R T ) 12,500 0 12,500
OASR0 B2ME  1,250,0008 x20S *50/100 12,500
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FA sEII=dH
HH: =oiAs gl
ol RIOISE MADIE T4 (el @
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
S 3,750
= 8,750
sglls=2s A& 25,480 25,880 A400
2 13,180
= 12,300
NS Setsedl =8 255X 10,000 10,000 0
2 4,000
= 6,000
101 2124H| 10,000 10,000 0
2 4,000
= 6,000
04 JIZtN 22 NS 2+ 10,000 10,000 0
OWEEEBIEE EERIET
71,0503 *1Q1%125€ 8,882
2 3,553
= 5,329
OtMEE FY= 8,882,000 *0.0265 236
2 94
= 142
o=z 2= 8,882,000 *0.048 427
= 171
= 256
0OLNE2Y FE= 8,882,000&+0.016 143
= 57
= 86
ou2d=2s fg= 8,882,000& *0.0335 298
= 119
= 179
OFIIRY FY=  8,882,000& +0.0335+0.045 14
= 6
i 8
FEsgol 38 AHES HEEMY 2,600 3,000 400
= 1,300
= 1,300
301 LBtENS 2,600 3,000 2400
= 1,300
= 1,300
09 AL HIXI &S 600 1,000 2400
OHUE0 HHAS 24 AL Oy
120,000& #5¢! 600
= 300
= 300
2IIE2 4= 2,000 2,000 0
OHEE0l AAFC 24 HAHE AR
200,000& 23| x5! 2,000
= 1,000
= 1,000
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2AM: sI|=HgH
HH: =oiAs sl
ool ZlIEE3 XY EER-E
SN B S() - MBAY - BAS e HlDS2
MEALASTAMNEA 2,880 2,880 0
= 2,880
202 (4 dI 960 960 0
= 960
01 =LHOAHI 960 960 0
O=sItE8IIIE = AHEl 20,0008 *43] *12= It 960
= 960
301 LetE8NZ 1,920 1,920 0
= 1,920
12 JIEt2 &= 1,920 1,920 0
O=IIEZI|IE Atddl 40,0003 *43] *123] 1,920
= 1,920
AMOIH=sHle-HIZLIAASEHEX A 10,000 10,000 0
= 5,000
= 5,000
201 L2l 700 700 0
= 350
= 350
01 At 22|l 700 700 0
Qe-HIZLIA WE A& M= 28,0003 «25% 700
= 350
= 350
301 et d= 9,300 9,300 0
= 4,650
= 4,650
09 SHALAIHIXI A2 900 900 0
Oe-HIZLIA s (Y| 18,0003 x23| x25H 900
= 450
= 450
12 JIEt2 &= 8,400 8,400 0
Oe-HIZLIA s 2AL =2 700,000& *123] 8,400
= 4,200
= 4,200
tstgd =)= XA 844,546 44,219 800,327
= 100, 000
= 744,546
e s SEAMUA 23 44,546 44,219 327
101 2124 | 24,546 24,219 327
04 D122 2 XNsSE 24,546 24,219 327
OSZEMZI =g 29 o8
79,050& *3009! 23,715
ounls:Ey Y= 23,715,000&*0.015 356
oKt 2= 23,715,000& *0.02 475
201 et gl 10,000 10,000 0
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M sI=4dH
HH: SolAS aHl
&el: Bslgdslis SENE (el &R
_ &
SA - ZH - SA(SH) - MRAY - BES 0l el S HRE2
02 3223l 10,000 10,000 0
OBTMZII=oHE Al&EHI=Xb
10,000, 000& » 14! 10,000
206 XH =4I 10,000 10,000 0
01 M=zl 10,000 10,000 0
OFMZII=NE 22 M 7
10,000, 0003 * 14 10,000
et s ASAEE ADNES2A AMAE ASEAS 800,000 0 800,000
= 100,000
= 700,000
401 Al HI L 20| 800,000 0 800,000
= 100,000
= 700,000
01 Al&HI 800,000 0 800,000
OASAEE AGIE2A AAE 2=
800,000, 000& *1JH 2 800,000
= 100,000
= 700,000
ANEHATALE 22| 389,213 208,621 180,592
72 0IME BHHE 22 33,000 33,000 0
201 fetEdy| 11,000 11,000 0
01 At 2teltl 3,000 3,000 0
ORE0MESHILA =X+ 2L
3,000,000& 14l 3,000
02 5223l 8,000 8,000 0
ORENMUESHLY 7 7&
3,000,000& 14l 3,000
ORE0IMESHI A AlLEHI =X
5,000,000& 14! 5,000
206 H = HI 22,000 22,000 0
01 HZHl 22,000 22,000 0
ORENUSHILA 2SEHE 2L
22,000,000& *14] 22,000
AL L ANER2E 88,463 129,571 A41,108
101 el24d| 56,563 55,671 892
M4 JI2tHZ2REES 56,563 55,671 892
OASEYE 2g RY 79,0503 +401+160 50,592
o=tz RBE= 50,592,000& +0.045 2,277
CQHLEE RY=S 50,592, 000& *0.0343 1,736
OIS B8 1,618,000& +0. 1152 187
ONEEH RE3 50,592,000& %0.015 759
OMIHEE FE3 50,592,000& x0.02 1,012

- 683 -




S SIS
M sQAS FA
Sl AlEeTA 22 EER-E
= _ = Polls
2A -3 - SA(3AH) - NRAY - BES Off &t oK 'Oﬂ'@oEu Huns2
201 Ler2 | 16,900 23,900 AT7,000
01 ALY 5,000 5,000 0
OAZEY U ALEY I=H)
1,000, 000214} 1,000
OMZEZ2Y MUIYKZ  3,000,0008 14! 3,000
OMSEE 29 EE NZ 100,008 +105 1,000
02 B2l 1,900 18,900 AT7,000
OASEE L AIESY ZHIRXH|
5,000, 0002 *14! 5,000
O Rol2a 2 =524 HE)
1,5002%4,000 £ 6,000
OAMSEE 22| ZI|H KRR 1,500 %600 £ 900
206 T Z bl 10,000 15,000 £5,000
01 THZHl 10,000 15,000 £5,000
OMSEE 2YME 7Y 10,000,000 14! 10,000
405 Kars S| 5,000 5,000 0
01 KA S EF S| 5,000 5,000 0
oazmI 2| J1J| 7Y 2,500,000 2CH 5,000
SHZ 2TLISMN I 2 2,750 3,000 £ 250
201 Yer2 | 2,750 3,000 £ 250
01 AL r2lt] 2,750 3,000 A250
OR2RY X8 SIH| YXE 550,008 +52 2,750
ExiY 29 12,500 12,500 0
201 Yer2 | 2,500 2,500 0
01 ALY 1,000 1,000 0
OXHAA EXIIT 2L 1,000,000 14! 1,000
02 ISl 1,500 1,500 0
OZXHHYA AIZFHIKLI 1,500,0008 14! 1,500
206 T2 bl 10,000 0,000 0
01 THZH| 10,000 0,000 0
OZHIYA SYWE P 10,000,0008 *14! 10,000
HAHSs 29 7,500 7,500 0
201 Lere | 2,500 2,500 0
01 AL r2lH] 1,000 1,000 0
OB AL A EXIIT R 1,000,000 14! 1,000
02 B2 1,500 1,500 0
OHIAHYA AIZFHIKXIHI 1,500,0008 14! 1,500
206 THZ bl 5,000 5,000 0
01 THZH| 5,000 5,000 0
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FA sEII=dH
Mo =oiAs sl
Rl AIEARAIE 2l (el &
o - = PSEE
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
| oAty 2EMHE P& 5,000,000 14! 5,000
FE0IME MTAIE JDIE22 At 60,000 0 60,000
401 Al HIZL 20l 60,000 0 60,000
01 Al&HI 60,000 0 60,000
OlIMESHLA JIJInH E =2l
60,000, 0003 14| 60,000
ASANEE “2AIE EH ALY 50,000 0 50,000
401 Al HIZ SO 50,000 0 50,000
01 AlEHI 50,000 0 50,000
OASAEE =FAIE |
50,000, 000% 194 2 50,000
SMUEHSAEE HAEH SZALY 135,000 0 135,000
401 Al HIZ SO 135,000 0 135,000
01 Al€H| 135,000 0 135,000
O=MMUEISAXE AL
135,000,000 14 135,000
ASHEXH 319,000 74,000 245,000
= 75,000
S 13,500
= 230,500
ASOHE 2t 4,000 4,000 0
201 fet2 4| 4,000 4,000 0
01 AtR2telH 4,000 4,000 0
OASHHEE0F WEE A 20,0003 *150F 3,000
OASHEE0F s FAA Ot
2,000& «500¢! 1,000
HATHEBHER X DIt a o 180,000 50,000 130,000
401 Al HIZ SO 180,000 50,000 130,000
01 Al€H| 180,000 50,000 130,000
OBIATHEHEL Xl ZEAY AAEH ESF
100,000,000 14 100,000
O A HEHELX] ZEAIY A 2etB I SE It
=9 34,000,0003 141 34,000
OBIATHEHEL Xl =&AL AETHHSSEBE
9 34,000,000 14| 34,000
OHATHEHEX LAY EXI0HHI
12,000, 0003 14| 12,000
SESsSEY NgHe WERD 5 A& 135,000 0 135,000
= 75,000
S 13,500
= 46,500
307 212+l 135,000 0 135,000
= 75,000
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2AM: sI|=HgH
I SolAS al
Sl ASHLX S CEREE
= X XH Ct2l (S = o HASZ OH I‘—-IE'E =2}
Tkl'ox—|'|_|"l‘|(2|)1|)'k"—rA|'|=|"l£o—1 0:"‘&'—| O:H&.OH t”DLEI:I
< 13,500
o 46,500
02 QIZtBAAIEE X 135,000 0 135,000
O =ESsSgEdy Ng9H? WERA 5 X
A(HPYAYHANYEYS)
150,000, 000& *14!%90/100 135,000
= 75,000
& 13,500
i 46,500
sitE RS2l 540,732 897,790 A 357,058
& 35,159
i 505,573
SS4&2S HOE#HA 28 22,200 27,200 25,000
201 LBr2F| 21,300 21,300 0
01 AL 22l bl 8,800 8,800 0
O=S4t2 HIHEA 29 8,800,000 =14 8,800
03 A2 ZH| 12,500 12,500 0
O=S42 THIHA 22 2,500,000 53] 12,500
301 LB F 900 900 0
09 HALAIHIXIAZ 900 900 0
OUZAl =S4&t=2 HOHEHAN 404
100,000 & *321 *33| 900
SS&2 MK HEA EFE MEXA 4,200 4,200 0
206 M =4l 4,200 4,200 0
01 HZHl 4,200 4,200 0
O=4t2 |MXRIEA EZHME 7,000 *6000H 4,200
SSNE AZEM HEXH 150,000 175,000 225,000
206 M = HI 150,000 175,000 225,000
01 THZ 1l 150,000 175,000 225,000
O=sSit2 2T HEXJ
6,000,000 258 = 150,000
SMUES A (ZXNAISEASHAIA) 4,945 6,000 A 1,055
& 1,484
o 3,461
201 LBr2Fd| 945 1,000 AB5
L= 284
i 661
01 AL 22l bl 945 1,000 AB5
OZ XAt BHUSH X (BZAAHI)
1,890, 000& *141%50/ 100 945
& 284
o 661
402 QI+ X201 4,000 5,000 21,000
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SN sYISHE
A sAAS A
©el: sME RSB (ool @ e
. _ A
SA - ZH - SA(SH) - MRAY - BES 0l e S HIRE
= T, 200
2 2,800
02 SI2FRHZ AL 2 X (01 H KR! ) 4,000 5,000 A1,000
OZXABHOSE EHWAH
8,000, 0002 * 17§ 4 *50/ 100 4,000
= 1,200
2 2,800
UAT SEA2 220 ALS YN 143,199 143,140 59
101 Q1244| 56,999 56,940 59
04 DI H2EXS 24 56,999 56,940 59
OLLE2Y JI2H 2AAY|
79,0502 %291 %3252 51,383
OLEE2Y JI2H BLAS ASX 2E
79,0502 %291 +32521 +0. 045 2,313
O4BEB2Y JI2H NBLE AAX 2L
79,0502 %291 %3252 +0.0165 848
OALSEY JIH ABZE AAX 2E3
79,0502 %291 %3252 +0. 0343 1,763
OABE2Y JI2H BIIBADEE AL £
S22 79,0509 %201%32521x0.0343+0. 11520 204
OLLE2Y JI2H MAHSE ALK L3 488
201 2Er2 2| 86,200 86,200 0
01 At 2lt] 75,000 80,000 5,000
OUYE XL SthHl X
5,0009%10,00024 50,000
o4EE 2 L 22|
10,0002 + 1074 & <253 25,000
02 2Bl 6,200 6,200 0
oyYs 29 ZJL3 100,000 * 1274 & 1,200
O%YE SHOIX KXB4 5,000,000« 14 5,000
03 A2 2t 5,000 0 5,000
OUYS AHIKMB S A 5,000,000 14! 5,000
X SSH2 BOHE Zl 50,000 0 50,000
401 AlEHI L 2| 50,000 0 50,000
01 Al 50,000 0 50,000
OSX SSHSBHY tha&H SXTA
50,000,000 * 14} 50,000
SAZAY B45 XY 50,000 0 50,000
= 15,000
= 35,000
402 QIZEXHZ0IH 50,000 0 50,000
= 15,000
= 35,000
02 SI2FRHZALH 2 X (OI R TR ) 50,000 0 50,000

- 687 -




SN SIIEHE
HH: SQAS S
Sel SN2 RS2 (et @
- _ - &E
SA -3 HAGA) - HEAY - BES Ol & oK '(EI&OEH HuE2
CErErEECERE
100,000, 000! %50/ 100 50,000
= 15,000
2 35,000
SAE 43 X2 ZHAMY 3,938 6,000 A2,062
308 XHXIEHHISOI R 3,938 6,000 A2,062
07 XIS E 3 3,938 6,000 A2,062
OSAE £EXE2 ZANL
3,938, 0002 * 14! 3,938
K2 il AHIS TR 2 50,000 60,000 £10,000
206 T 2| 50,000 60,000 £10,000
01 HEHI 50,000 60,000 10,000
OXNM 7Y BHSE Y Y TFTY MEP
e 10,000, 0002 *52 2 50,000
MTRSIES (MK RSHEAIL) 56,250 56,250 0
= 16,875
2 39,375
402 P12 XH2 01 H 56,250 56,250 0
= 16,875
2 39,375
02 QI XHE A2 E (O R THR) 56,250 56,250 0
OMEMED HXIX AL
7,500,0002 * 155 *50/ 100 56,250
= 16,875
2 39,375
SA2 el Syl X 6,000 0 6,000
= 1,800
2 4,200
301 YR HI 6.000 0 6,000
= 1,800
2 4,200
12 e A3 6,000 0 6,000
Osa2 Xjel byl Ke
5,000 *50%+2, 40021 6,000
= 1,800
2 4,200
REIY 1,425,500 73,500 1,352,000
2 980,000
2 445,500
REmn 22 6,000 6,000 0
202 01| 3,000 3,000 0
01 2UHOTHI 3,000 3,000 0
O RS YL 0] 20,0008 *158] 3,000
301 YR HI 3,000 3,000 0
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SN SAIEHE
HH: SAS B4
o9l SEIM Y (el &
- _ - &
SN ZH - S(S) - MRAY - BAS Ol &t o S dImEET
09 HALAHIXIA S 3,000 3,000 0
© SESA A4 21201 0fH] 200,000 *153] 3,000
S42 RS UERD 75 28,500 67,500 39,000
201 Lt | 13,500 13,500 0
01 At 22|l 6,000 6,000 0
oNdsie B2 N L BEE N
1,000, 000& «65 6,000
03 A2 It 7,500 7,500 0
OXNASMNE SEHA 2 2,500,000 35 7,500
207 & 20 Y| 15,000 19,000 A4,000
01 A7 E | 15,000 19,000 A4,000
OSMIIRE ABIIX B LN HLDS
89 15,000, 000! * 14! 15,000
SE ABHZYANY(RES) 1,325,000 0 1,325,000
s 980,000
i 345,000
207 4P If Lt 150,000 0 150,000
2 105,000
i 45,000
NEEEET 150,000 0 150,000
OsE NBABAAMNY JI2N 42 B
150,000, 00024 * 14! 150,000
s 105,000
2 45,000
307 QI2+0I A 1,000,000 0 1,000,000
s 700,000
2 300,000
02 IR F AR E 1,000,000 0 1,000,000
OSE MEABAAANY AT 29
1,000,000, 000& * 14! 1,000,000
s 700,000
2 300,000
401 A& HI YL 20| 175,000 0 175,000
s 175,000
01 Al&HI 175,000 0 175,000
CEIETEIEXE =T
175,000, 000& * 14! 175,000
s 175,000
SE ABHIZYAAL(TH) 66,000 0 66,000
307 QI2H0| & 66,000 0 66,000
02 IR F AR E 66,000 0 66,000
OsE NEABAAANY ARIH 0124 K
3,000,000 *12J4 & 12! 36,000
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SH: SIS ME
I SolAS S
o9l SEIM Y (el &
% = o= &
SA - SRA(SAH) - HRAY - HES Ol &4 'Oﬂ'@oEu Hlus2
Os& dEaBeliAg Aed oloidl Aa
2,500,000 120 & =12l 30,000
SIAY MADIBE £ 437,500 738,680 A301, 180
AEOIS ASHES THHOIE E4 36,000 36,000 0
307 212+01 & 15,000 15,000 0
02 BB AR R E 15,000 15,000 0
QL ASESF MEXJ 15,000, 0003 * 14 15,000
402 QI+ X201 21,000 21,000 0
01 LA EAL S E (T HHR) 21,000 21,000 0
O LT THHH Al 15,000, 00021 +225 +70/100 21,000
DED HA AFMAIIE XA 297,000 486,000 189,000
402 QI+ X201 297,000 486,000 A 189,000
01 QIR 2ALS E & (KM AHE) 297,000 486,000 A 189,000
© ED SWHIX XA
2,000& *150,00091*50/100 150,000
© EDVS NAAY
5, 0002 %20, 000 %50/ 100 50,000
© LEtelHA HHXIXI&
11,000,000 * 1424 2 50/100 77,000
© HIA THEHSIHER) ST TR A
40,000, 0002 %17 A*50/ 100 20,000
M L SEHES TR Al 50,000 80,000 30,000
402 P12 X201 A 50,000 80,000 30,000
01 PIXHZ AR BE (KA ) 50,000 80,000 30,000
O1AlZ 1833 N& 50,000, 000& *14] 50,000
SSt&E MACX ZdALY 42,000 42,000 0
402 QI+ X201 42,000 42,000 0
01 LA EAL S E (T HHR) 42,000 42,000 0
OSsIRE Mol Ta
60,000, 0002 *141%70/100 42,000
SSMS XA 12,500 22,680 A 10,180
201 et Fy| 5,000 0 5,000
01 At 22|l 5,000 0 5,000
© SaAY 28 5,000,00024 %14} 5,000
301 YA 7,500 9,000 A1,500
09 #AIAIHIKIR2 5,000 9,000 4,000
© S3HAY 20F MTK A8 B Ofb]
50,000 *25% *23] 2,500
O SsAE 20 E=su= 100,000& x25H 2,500
12 IR A2 2,500 0 2,500
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SN SIIEHE
MM SoAS EA
Pl SSHANY MADIB X4 (et ®8)
= = e &E
SN ZH - S(S) - MRAY - BAS Ol &t o S dImEET
O SaAY =20F 820t s A 59
250, 00021 *5% *23] 2,500
seiol =X B 418,061 585,336 A167,275
2 26,500
= 48,052
2 343,500
MEIH S X 33,460 46,540 13,080
= 2,592
2 30,868
MBS DRBA L BE XY 20,500 26,500 6,000
201 L2t 3,000 5,000 A2,000
01 AR 2t2lH] 3,000 5,000 A2,000
OMET2S0F A 22Ul 100,000 +305 3,000
206 T2 bl 5,000 5,000 0
01 THEHI 5,000 5,000 0
OMETRS0F Y DT M2
30,0002 10021 3,000
OMETY SACLRABA B3 W2
10,0002 x20% 2,000
301 YBBH I 12,500 16,500 A4,000
09 B AFAHIXIRI 2 10,500 14,500 4,000
OMEIHMS 2S K 2,000,002 %143 2,000
OMEINAE BY, TEHl AXMTIIE A}
750, 00021 +25| 1,500
OMEINLE BATHE &It X2
5,000,0002!* 1743l 5,000
MBS0 AT BEXR
100, 00024 %202 2,000
12 e R A S 2,000 2,000 0
OABRAAY SAL 200, 00024 #1038 2,000
SE0H AL (SE0E ZEX 23) 2,960 20,040 A7,080
= 2,592
2 10,368
201 LBt 12,960 20,040 AT7,080
= 2,592
2 10,368
01 At 22l 12,960 20,040 AT7,080
OMENHE MRS BT 12,960,0008 14! 12,960
= 2,592
2 10,368
0l sl X2 10,000 193, 196 183,196
0lgs0 NEHA L BE XS 10,000 8,000 2,000
201 L2t 1,000 1,000 0
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S H:
7(‘| il—l:
C|—O|:

=o1)| S ME
=ojol =X EX
Soi0l MEEA A

% = &
SN B CR(BH) - MRAY - BES 0l et S HRE2
sEALE0E2 2L (&HI) 50,000 50,000 0
& 15,000
s 35,000
307 QI2+0I A 10,000 10,000 0
& 3,000
s 7,000
02 QIZtBAAIEE X 10,000 10,000 0
O=sEHZE=0t2 |4 10,000,000 *1JH 2 10,000
& 3,000
s 7,000
402 QI+ X201 40,000 40,000 0
& 12,000
o 28,000
02 QI+ RH2ALHL E X (OIE ) 40,000 40,000 0
OsZdZdE==0t2 |4 40,000,000 *1IH 4 40,000
< 12,000
i 28,000
HE=go SH(sE0HEZE0120 22LEXE) 3,300 3,300 0
< 660
i 2,640
301 YPYBNZ 3,300 3,300 0
& 660
o 2,640
12 JIEt2 A= 3,300 3,300 0
EHLZ 200N 2ILEXR
3,300,000 *17t& 3,300
< 660
i 2,640
st S8 JI=X& (AHA) 104,501 100,000 4,501
101 214 H| 28,501 0 28,501
04 JI12tM22sEs 28,501 0 28,501
OstSIEINSHH 29 JIZtN221% 212
& 79,0503 *101%325 25,692
o=odz 2Y=3 1,157,000& 10! 1,157
ONEEH 22 424,000& =12! 424
OAHZEH 22 882,000& =12I 882
OMIHEE RE3 244,000& 10! 244
OEIIRY B8 102,000 =121 102
201 et Fy| 39,000 37,000 2,000
01 AtR2teltl 15,000 13,000 2,000
OsdE=SEIISHEH 22|
15,000, 000& * 104 & 15,000
02 2322l 24,000 24,000 0
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S S| SHE
Z: selol =X BA
SHol: 2ol MEEH A EERE
- _ - &E
SN B CR(BH) - MRAY - BES Ol &t o S dImEET
o=zl 222l
2,000,000& *123] 24,000
206 TH 2 | 20,000 18,000 2,000
01 T2l 20,000 18,000 2,000
OSMSEEIIBUEH 2 HEH|
200,000& * 1004 20,000
301 LEIENZ 5,000 25,000 220,000
12 JlEt2 a2 5,000 15,000 210,000
OSMESEEIIBHE DT ALY
500,000 *524 *23| 5,000
405 XHaHE S 12,000 20,000 /8,000
01 ML SSHSHI 12,000 20,000 /8,000
OSMETEIITHE 2YSE 2
1,200,000 105 12,000
fcol & 0|8 ASIHE Jlsu=s 3,000 7,500 A4,500
2 1,500
= 1,500
201 2Bt2 Y| 300 500 A200
2 150
= 150
01 AL 22t 300 500 A200
OLIYs L2lu 2SNE 2|
50,0002 *6 300
= 150
= 150
206 TH 2| 300 2,000 A1,700
= 150
= 150
01 T2l 300 2,000 A1,700
OCIYs L2lu 2SN MR
50,000 6 & 300
= 150
2 150
301 LEIENZ 2,400 5,000 22,600
= 1,200
2 1,200
RIIBENS 2,400 5,000 22,600
OCIYS L2l¥ BEDE AALE
400,000& *63] 2,400
2 1,200
2 1,200
SE 24 SXATAG(HEAY) 50,000 50,000 0
= 25,000
2 25,000
307 glztol A 5,000 5,000 0
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M sI=4dH
HE: =520l =X SX
St melol MEEH Jfd CEREE
- _ - &
SN ZH - S(S) - MRAY - BAS S dImEET
< 2,500
s 2,500
02 QIZtBAAIEE X 5,000 5,000 0
OsSENZUEXNATAISEAMY BLEX
5,000,000 * 100 2 5,000
< 2,500
s 2,500
402 2I2b 201 & 45,000 45,000 0
= 22,500
o 22,500
02 QI+ XH2ALS E X (OIE ) 45,000 45,000 0
OsZ0HZ2AUSTATIAEAE 22X
45,000,000 *17H 2 45,000
= 22,500
i 22,500
YAHMSSAEW 24 18,000 36,000 218,000
201 LetEdy| 2,000 17,000 215,000
01 At 2teltl 2,000 3,000 A1,000
OLAXMSSAE N 2AH| 100,000& x20& 2,000
206 XH =4I 2,000 4,000 A2,000
01 M=zl 2,000 4,000 A2,000
oLAXMSSAIE N HE I
100,000& 20 2,000
301 YPYBNZ 14,000 15,000 A 1,000
12 JIEtEA 3 14,000 12,000 2,000
OYAUNMSSAS W A=Y 400,000 *358] 14,000
MESH2 2H 3,000 2,000 1,000
201 LetEdy| 1,000 0 1,000
02 23224l 1,000 0 1,000
OMeEe2 ZIZ 2| 100,000& * 103l 1,000
405 KHAHF SHI 2,000 2,000 0
01 Xt 2 SFHSHI 2,000 2,000 0
odeustat HI|l 2¢ 500,000& *45 2,000
=& MEGH 2 A48 NSAS 16,000 0 16,000
< 4,800
i 11,200
307 212+01 A 16,000 0 16,000
< 4,800
i 11,200
02 DIt AMAIHE X 16,000 0 16,000
ONdSF MM 2E 248 X
20,000,000& +0.8+ 100 & 16,000
& 4,800
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FA sEII=dH
M3 solol =X =7
el sgol dEsd il (el &
P = N
SA-BY.SASH) - RN - B ol &t S HIDE
| = 1,200
S0IHUEE CAdE 2 75,000 0 75,000
201 2823yl 7,000 0 7,000
01 At 2t2ld 2,000 0 2,000
OB0IHNZ=E TIXAAE 2HFN
2,000,000& * 14! 2,000
02 s5=3H 5,000 0 5,000
OS0IHUEE CINAME FXI2tel
5,000,000 =14 5,000
206 M= Hl 3,000 0 3,000
01 =l 3,000 0 3,000
OS0IHNEE LIANHE 2 M=l
3,000,000 =14 3,000
401 Al HIL 20l 35,000 0 35,000
01 Al€H| 35,000 0 35,000
OSB0IHUE=E OXNAHE SN2+
35,000,000 14! 35,000
405 Kok S4| 30,000 0 30,000
01 MM =S FSH 30,000 0 30,000
OS0IHNEE LIAHE 2HES T
30,000,000 14! 30,000
HH 2SI (sI1=4H) 580,573 1,514,021 933,448
2t (sEll=dH) 328,079 1,280,313 A952,234
oE2dtl(sEIIsdE) 328,079 1,280,313 A952,234
101 14| 328,079 1,280,313 A952,234
012+ 234,166 206,818 27,348
Oozuz2=2+g 10,8412 4501 x480 Al 2 234,166
02 JIEt ™2 == 24,423 24,423 0
OssYAF2AMN =E 24,423
OsSYAF2AA 585 dds
600,000 x201 %123 14,400
OSSYAF2AA Al2te =&
9, 1903 221 +480 Al 2t 8,823
OBZYALIN SBSE
50,0003 201 x12& 1,200
03 RIAHS=Z 2 NE = 69,490 1,049,072 A979,582
Os74 o2l 69,490
Ou =t 500,000& 5214300, 000& »7¢! 4,600
OzV224+Y
13,0002 150 Al 2+%150%*401+13, 5002 *360 Al 55,440
2 150%+621
O=0bl 150,000& 212 *32 9,450
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SA: SIEHH
M #Y2HTH(sYII=s4H)
9l D12 (5YIIEHE) EERE
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
J2ZH (s IsHH) 252,494 233,708 18,786
Jl2ZHI(soIsdH) 252,494 233,708 18,786
201 £et24E| 137,454 119,388 18,066
01 At 22l 92,454 85,388 7,066
Oget 2SH(SAUHY) 92,454
Oo2g==g(L=2]) 14,340,000 14| 14,340
Ogtt=24| 33,210,000 + 14| 33,210
O=&tl 16,704,000 14| 16,704
Ogxtz 28,200,0003 =14 28,200
02 3323 45,000 34,000 11,000
Oxtg |XlZeltl 45,000,000 * 14| 45,000
202 044 94,400 95,100 AT00
01 =Woddl 29,600 30,300 AT700
OYR=& 04yl 29,600,000& 14| 29,600
02 404l 64,800 64,800 0
O N0l 150,000 x36E x12& 64,800
203 R =2l 20,640 19,220 1,420
01 | 2=2SEFFAH| 6,000 5,000 1,000
oJ|A2gg =AYl 6,000,000 =141 6,000
02 It RFAH| 2,640 2,760 A120
OE AL R =TI 40,0002 662 2,640
04 FNE2SEFFAH 12,000 11,460 540
OsdFLL 350,000 12 4,200
OJI=X&u 400,000& «12& 4,800
OASRSH 250,000 12 3,000
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